Interest

Interest is money charged for using other people’s money.

Calculating Simple Interest

Money borrowed, loaned, or invested is called the principal amount, or simply principal.

The interest rate is the percent used in computing the interest (usually per year).

Simple interest is interest computed only on the original principal.

simple interest = principal * rate e timeor =P+ R T
where the rate is understood to be per year and time is in years.
Calculating Compound Interest

Compound interest is computed on not only the principal, but also on the interest
already earned in previous compounding periods.

If interest is compounded annually on an investment, this means that interest is added
to the principal at the end of each year and next year’s interest is computed on this new
amount.

Finding Total Amounts with Compound Interest
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A=P(1+%)

where A is the total amount, P is the principle, r is the rate, n is the number of times a year it is
compounded, t is time in years.



Maggie has a bank account with a principal = $1500, and her bank compounds the interest 3
times a year at an interest rate of 4%, how much money will she have at the end of the year?
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If Bridgit has a bank account with $23,000 and her bank compounds the interest quarterly at an
interest rate of 7%, how much money will she have at the end of the year? (assume that you do
not add or withdraw any money from the account)
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Eric got a credit card, which charges 11.43% interest to its customers and compounds that
interest monthly. Within one day of getting his credit card, he maxes out the credit limit by
spending $1,100.00. If he does not buy anything else on the card and does not make any
payments, how much money would he owe the company after 7 months? (assume that they do
not charge extra fees each month)
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